
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 4th Week, 1st Day Exercise 1.19 Complete

 Answer the following questions:  
Q.1. The area of a square plot is 900m2. Find the length of the side of the

plot.     (1x2=2)

 900 
Q.2. 400 students sit in rows in such a way that the number of rows is equal

to the number of students in a row. How many students are row there in

each row?              (1x3=3)

 400


Q.3. In a lecture hall, 8649 students are sitting in such a manner that there

are as many students in a row as there are rows in the lecture hall. How

many students are there in each row of the lecture hall?      (1x3=3)

 8649 


Q.4. The students of class-VII of a school donated Rs. 2304 for the Prime

Minister's Relief Fund. Each student donated as many rupees as the

number of students in the class. Find the number of students in class.

(1x2=2)

 2304 

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